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Colton had 4 toy trucks. Then 
he got 3 more from Oliver. How 
many trucks does Colton have 
now?  
 

 

4 + 3 = x 

Liam had some bouncy balls. 
Brandon gave him 4 more. Now 
Liam has 7 balls. How many did 
he have to start with?  

 

x + 4 = 7 

Marcy had 3 Pokeman cards.  
Carol gave her some more.  
Marcy now has 7.  How many 
did Carol give her?  
 

 

3 + x = 7 

Hugh has 7 baseballs. He gives 
Paul 4 for free. How many balls 
does Hugh have left?  
 

 

7 – 4 = x 

Jackie had some balloons. He 
popped 4 in a game. He now 
has 3 balloons left. How many 
balloons did Jackie start with?  

 

x – 4 = 3 

Ethan had 7 stuffies. He gave 
some of his stuffies to Morgan. 
He now has 4 stuffies. How 
many stuffies did Ethan give to 
Morgan?  

 

7 – x = 4 

 


